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       cky fodkl ,oa f'k{kk 'kkL=         dEVE

1.  ,d cPpk vf/kd lh[krk gS ;fn mls-------- 

 (A) ikB~;iqLrd ds ek/;e ls i<+k;k tkrk 

gSA 

 (B) daI;wVj ds ek/;e ls i<+k;k tkrk gSA 

 (C) Hkk"k.k fof/k ds ek/;e ls i<+k;k tkrk gS 

 (D) xfrfof/k ds ek/;e ls i<+k;k tkrk gS 

2.  d{kk esa f’k{kd---------ç;kl djrk gS 

 (A) Nk=ksa dks vuqHko çnku djus dk 

 (B) lgk;d vf/kxe okrkoj.k çnku djus 

dk ç;kl 

 (C) çfrfcafcr djus gsrq volj çnku djus 

 dk 

 (D) mijksDr lHkh 

3.  ^^euksfoKku i'kq O;ogkj ,oa O;fDr O;ogkj 

 dk v/;;u djrk gS**] ;g dFku fdldk 

gS\ 

 (A) oqMoFkZ   (B) ekWxZu 

 (C) Øks ,oa Øks  (D) fLduj 

4.  míhid vuqfØ;k fl)kUr ------------}kjk 

 fn;k x;k FkkA 

 (A) fLduj   (B) FkkWuZMkbZd 

 (C) ikoyo   (D) okWVlu 

5.  ---------ds vuqlkj& ^^f’k{k.k ,d f=/kzqoh; 

 çfØ;k gSA** 

 (A) ,MEl   (B) ikoyo 

 (C) tkWu Mhoh   (D) okWVlu 

6.  ^O;fDrxr fofHkUurk* dk fl)kUr fdlus 

fn;k\ 

 (A) xkWjMu   (B) lqdjkr 

 (C) jkstlZ   (D) xkYVu 

7.  çkFkfed Lrj ij vuqns’ku--------gksuk 

pkfg,A 

 (A) f’k{kd dsafær  (B) ikB~;iqLrd dsfUær 

 (C) Nk= dsfUær 

 (D) f’k{kd rFkk ikB~;iqLrd dsafær 

ILD DEVELOPMENT 

1.  A child learns more if be is ............ 

 (A) Taught through text book 

 (B) tought through computer 

 (C) Taught through lecture method 

 (D) Taught through activity method 

2.  The teacher in the classroom makes 

 effect 

 (A) To provide experience to 

students 

 (B) To provide supportive learning 

 environment 

 (C) To provide opportunity to reffect 

 (D) All of the above 

3.  “Psychology studies the behavior of 

 animal and human”, whose statement 

 is this ? 

 (A) Woodworth  (B) Morgon 

 (C) Crow & Crow  (D) Skinner 

4.  Stimulus Response Theory was 

given by ............. 

 (A) Skinner   (B) Thorndike 

 (C) Pavlov   (D) Watson 

5.  According to ............., “Teaching is 

a Three Dimensional process” 

 (A) Adams   (B) Pavlov 

 (C) John Dewey  (D) Watson 

6.  Who gave the theory of individual 

 Difference 

 (A) Gorden   (B) Socrates 

 (C) Rogers   (D) Galton 

7.  Instruction at the primory stage 

should be 

 (A) Teacher Centered 

 (B) Textbook Centered 

 (C) Child centered 

 (D) Teacher and Textbook centered 
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8.  6 ;k 7 lky dk cPpk nwljksa ds n`f"Vdks.k 

dks Lohdkj djus esa l{ke ugha gksrk 

 (A) D;ksafd og cgqr NksVk gS 

 (B) D;ksafd og vge~ dsfUær gS 

 (C) D;ksafd og cqf)eku ugha gS 

 (D) D;ksafd og dYiuk’khy gS 

9.  6&11 o"kZ ds vk;q lewg ds cPps dks yfuZax 

ds fy, fuEufyf[kr dh vko’;drk gksrh gSA 

 (A) Bksl xfrfof/k;ksa ;k vuqHkoksa dh 

miy)rk  

 (B) f’k{kd }kjk Kku ds gLrkarj.k  

 (C) ;kn j[kus ds fy, voljksa ds çko/kku 

(D) d{kk esa mPp jSad çkIr djus ds fy, 

çsj.kk 

10.  vf/kxe loksZÙke gksxk tc& 

 (A) cqf) gksxh  (B) vuq’kklu gksxk  

 (C) vfHkçsj.kk gksxh (D) vfHko`f) gksxh 

11.  f’k{kk euksfoKku-------------------gSA 

 (A) 'kq) foKku (B) ,d O;kogkfjd foKku 

(C) ,d ekud foKku  

 (D) mijksDr esa ls dksbZ ugha 

12.  O;fDrRo dk bad CkykWV VsLV------------gSA 

 (A) ,d O;fDrijd VsLV  

 (B) ,d oLrqfu"B VsLV  

 (C) ,d çkstsfDVo VsLV  

 (D) mijksDr esa ls dksbZ ugha 

13.  cqf) dk f}rRo fl)kUr fdlus fn;k gS\ 

 (A) fcus  (B) Lih;jeSu  

 (C) FkkWelu  (D) fxyQksMZ 

14.  o`f) ds ckjs esa D;k lp ugha gS\ 

 (A) o`f) HkkSfrd gSA (B) o`f) ek=kRed gS 

(C) o`f) ugha gSA  

 (D) 'kjhj ds vkdkj esa c<+ksÙkjh o`f) gSA 

15.  jpukRedrk dh fo’ks"krk gS 

 (A) ekSfydrk   (B) çokg  

 (C) yphykiu   (D) mijksDr lHkh 

 

8.  A Child of 6 or 7 years old is not able 

to accept others point of view 

 (A) Because be is too young 

 (B) Because he is ego centric 

 (C) Because he is not intelligent 

 (D) Because he is imagenative 

9.  Children of 6-11 years age groupneed 

the following for learning 

 (A) Availability of contred activities or 

expeiences  

 (B) Transfer of Knowledge by the 

teacher  

 (C) Provision of opportunities for 

memoriration  

 (D) Motivation to attain high rank in 

the class 

10.  Learning takes place the best when 

there is 

 (A) Intelligence  (B) Discipline (C) 

Motivation  (D) Growth 

11.  Education psychology is ........... 

 (A) Pure science  

 (B) an applied science  

 (C) a normative science  

 (D) None of the above 

12.  Ink blot test of personality is ........... 

 (A) a subjective test  

 (B) an objective test  

 (C) a projective test  

 (D) None of the above 

13.  Who gave the two factor theory of 

intelligence? 

 (A) Binee   (B) Spearman  

 (C) Thomson  (D) Guilford 

14.  What is not true about growth? 

 (A) Growth is physical  

 (B) Growth is quantitative  

 (C) Growth is not measurable  

 (D) Growth is an increase in the size of 

the body 

15. Characteristic of creativity is 

 (A) Originality  (B) Fluency  

 (C) Flereibility   

 (D) All of the above 
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16.  /khes f’k{kkFkhZ dh t:jr gS 

 (A) vfrfjDr le; (B) fo’ks"k lgk;rk 

(C) dksbZ enn ugha (D) dqN enn 

17.  fuEufyf[kr esa ls dkSu lk f’k{k.k dk ,d 

Lrj gS\ 

 (A) ;ksxkRed   (B) ç{ksih  

 (C) ikjLifjd   (D) fparu’khy 

18.  thu fi;kts ds vuqlkj] 0 & 14 o"kZ dh 

vk;q oxZ ds ekufld fodkl pkj pj.kksa esa 

gksrk gSA 7 & 11 o"kZ vk;q oxZ ds fodkl ds 

pj.k dk uke gS 

 (A) laosnh is’kh; pj.k 

 (B) iwoZ ifjpkyu pj.k  

 (C) ewrZ ifjpkyu pj.k  

 (D) vkSipkfjd ifjpkyu pj.k 

19.  ,d d{kk esa ,d 'kjkjrh cPpk Nk=ksa dks 

ijs’kku djrk gSA ,d f’k{kd dks cPps dh 

leL;k dks tkuus ds fy, fdl fof/k dks 

viukuk pkfg,\ 

 (A) losZ{k.k fof/k (B) çdj.k v/;;u fof/k 

(C) çk;ksfxd fof/k (D) voyksdu fof/k 

20.  f'k{kk dk mís’; gksuk pkfg, 

 (A) Nk=ksa esa O;kolkf;d dkS’ky fodflr 

djus ds fy,A  

 (B) Nk=ksa esa left tkx:drk fodflr djus 

ds fy,A  

 (C) ijh{kk ds fy, Nk=ksa dks rS;kj djus ds 

fy,A  

 (D) O;kogkfjd thou ds fy, Nk=ksa dks 

rS;kHz djus ds fy,A 

21.  ys[ku&lac/kh vf/kxe v{kerk gS 

 (A) fMLysfDl;k  (B) fMLçsfDl;k  

 (C) fMLeksjfQ;k  (D) fMLxzkfQ;k 

22.  ,d f’k{kd dks d{kk esa dk;Z djuk pkfg, 

 (A) çxfr’khy Hkwfedk esa  

 (B) çHkqRooknh Hkwfedk esa  

 (C) çtkrkfU=d Hkwfedk esa  

 (D) çHkko’kkyh Hkwfedk esa 

16.  A slow learner needs 

 (A) Extra time  (B) Special help 

(C) No help   (D) Some help 

17.  Which one of the following is a level of 

teaching ? 

 (A) Summative  (B) Projective (C) 

Interactive  (D) Reflective 

18.  According to Jean Piaget, the mental 

development of 0–14 years age group 

occurs in four stages Name of the stage 

of development for 7-11 years age 

group is 

 (A) Sensory motor stage  

 (B) Pre-Operational stage  

 (C) Concrete operational stage  

 (D) Formal operational stage 

19.  In a class, a naughty child disturps the 

students. Which method should a 

teacher adopt to know the proplem of 

the child ? 

 (A) Survey method  

 (B) Case study method  

 (C) Experimental method  

 (D) Observation method 

20.  The aim of education should be- 

 (A) To develop vocational skills in the 

students  

 (B) To develop social awareness in the 

students  

 (C) To prefare the students for 

examination  

 (D) To prefare the students for practical 

life 

21. Learning Disability related to writing is 

 (A) Dyslexia  (B) Dyspraxia (C) 

Dysmorphia  (D) Dysgraphia 

22. The teacher in a classroom should act as 

a 

 (A) Progressive role 

  (B) Authoritarian role  

 (C) Democratic role  

 (D) Influential role 
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23.  fuEufyf[kr esa ls dkSu ekuo fodkl dk lgh Øe 

gS\ 

 (A) 'kS’kokoLFkk] fd’kksjkoLFkk] ckY;koLFkk] 

çkS<+koLFkk  

 (B) 'kS’kokoLFkk] ckY;koLFkk] fd’kksjkoLFkk] 

çkS<+koLFkk  

 (C) ckY;koLFkk fd’kksjoLFkk] çkS<+koLFkk] 

'kS’kokoLFkkA  

 (D) ckY;koLFkk] 'kS’kokoLFkk] fd’kksjkoLFkk] 

çkS<+koLFkk 

24.  ekuo vko’;drkvksa dk inkuqØe fdlus fn;k\ 

 (A) FkkWuZMkbd   (B) ekLyks  

 (C) fxyQksMZ   (D) jkstlZ 

25.  lehiLFk fodkl dk {ks= (ZPD) dh vo/kkj.kk 

fdlus nh\ 

 (A) cUMqjk   (B) fi;kts  

 (C) fLduj   (D) czk;xksRldh 

26.  Ýkscsy us fuEu esa ls fdl [ksy in çeq[k cy 

fn;k\ 

 (A) xsan dk [ksyA  (B) CykWd dk [ksyA 

(C) vkd`fr;ksa dk [ksy (D) ;s lHkhA 

27.  lekos'kh f’k{kk ls rkRi;Z gS 

 (A) fu;fer fo|ky;ksa esa lHkh çdkj ds ckydksa 

dk fcuk fdlh HksnHkko ds Lokxr djukA  

 (B) f’k{k.k dk ,d fo’ks"k rjhdk ftlls lHkh 

ckyd lh[k ldsaA  

 (C) dM+h nkf[kyk çfØ;k dks c<+kok nsukA (D) 

f’k{k.k ds fy, fo’ks"k fo|ky;ksa 

28. vkWijs’ku CySd cksMZ ifj.kke Fkk 

 (A) dksBkjh vk;ksx dk  

 (B) jk"Vªh; ikB~;p;kZ :ijs[kk] 2005  

 (C) jk"Vªh; f’k{kk uhfr] 1986  

 (D) jk"Vªh; ikB~;p;kZ :ijs[kk] 2000 

29.  fuEufyf[kr esa ls dkSu&lk vf/kxe dk {ks= ugha 

gS\ 

 (A) laKkukRed   (B) HkkokRed  

 (C) fØ;kRed   (D) vk/;kfRed 

30. ^f’k{kk dk vf/kdkj vf/kfu;e^ dks ykxq djus okyk 

çFke ns’k dkSulk gS\ 

(A) vesfjdk (B) phu (C) Hkkjr (D) ukWosZ 

23. Which of the following is a corrrct 

sequence of human development? 

 (A) Infancy adolescence, childhood  

 (B) Infancy childhood, adolescence, 

adulthood  

 (C) Childhood, adolescence, adultho-

od, infancy  

 (D) Childhood, infancy, adolescen-ces 

adulthood 

24.  Who had given hierarchy of human 

needs? 

 (A) Thorndike  (B) Maslow  

 (C) Guilford   (D) Rogers 

25.  Who gave the concept of „Zone of 

Proxinal l Development (ZPD)‟? 

 (A) Bandura   (B) Piaget  

 (C) Skinner   (D) Vygotsky 

26.  Frobel emphasizes which of these 

games? 

 (A) Ball game  (B) Black game 

(C) Figure game  (D) All of these 
27. Inclusive education refers to 

 (A) Welcoming all children without 

discrimination in the regular school (B) A 

particular method of education, that helps 

all children to learn  

 (C) Encourage strict admission procedure  

 (D) Use of special schools for teaching 

28. “Operation Black Board” was the 

outcome of 

 (A) Kothari Commission  

 (B) Natioanl Curriculam Framework, 

2005  

 (C) National Policy on Education, 1986  

 (D) National Curriculum Framework, 

2000 

29. Which of the following is not a domain 

of learning 

 (A) Cognitive (B) Fective (C) Conative 

(D) Spiritual 

30. Which is the first country to implement 

„Right to Education Act‟? 

 (A) America   (B) China  

 (C) India   (D) Norway 
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Hkk"kk&I (fgUnh) 
Language-I (Hindi) 

 
funsZ’k&¼iz’u 1ls 6rd½% fn, x, dfork dks i<+dj 

fuEufyf[kr iz’uksa esa lcls mfpr fodYi pqfu,& 

dfork 

gjk&Hkjk gks thou viuk LoLFk jgs lalkj]  

ufn;k¡] ioZr] gok] isM+ ls vkrh gS cgkjA  

cpiu] dksey ru&eu ysdj] 

vk, vuqie thou ysdj] 

tx ls rqe vkSj rqels gS ;s I;kjk lalkj] 

gjk Hkjk gks thou viuk LoLFk jgs lalkj]  

o`an&yrk,¡] ikS/ks] Mkyh 

pkjksa vksj Hkjs gfj;kyh 

eu esa txs meax ;gh gS l`f"V dk migkj] 

gjk&Hkjk gks thou viuk LoLFk jgs lalkj]  

eqf’dy ls feyrk gS thou] 

ge lc bls cuk,¡ panu 

i;kZoj.k lqjf{kr u gks rks gS lc csdkj 

gjk&Hkjk gks thou viuk LoLFk jgs lalkjA 

31- ^gjk&Hkjk thou* dk vFkZ gS& 

(A) isM+&ikS/kksa ls f?kjk thou    

(B) gjs jaxksa ls Hkjk thou 
(C) gfj;kyh ;qDr thou    

(D) [kqf’k;ksa ls ifjiw.kZ thou 

32- dkSu&lh phts cgkj ysdj vkrh gSa\ 

(A) ufn;ksa dh vkokt    

(B) igkM+ksa dh pksfV;k¡ 

(C) leLr izkd`frd miknku    

(D) isM+ks dh gok 
33- dfo us l`f"V dk migkj fdls dgk gS\ 

(A) o`an&yrk,¡ (B) gjk&Hkjk thou 

(C) izkd`frd lqUnjrk vkSj mlls mRiUu gksus okyh [kq’kh 

(D) ikS/ksa o Mkfy;k¡ 
34- dfo ;g lans’k nsuk pkgrk gS fd & 

(A) thou esa lc csdkj gS    

(B) i;kZoj.k &laj{k.k esa gh thou laHko gS 

(C) izd`fr esa isM+&ikS/ks] ufn;k¡] ioZr 'kkfey gSa   

(D) panu ds isM+ yxkus pkfg, 
35- ^tx ls rqe vkSj rqe ls gS ;s I;kjk lalkj* iafDr 

ds ek/;e ls dfo dguk pkgrk gS fd& 

(A) O;fDr vkSj lalkj&nksuksa dk vfLrRo ,d nwljs ij 

fuHkZj djrk gSA   

(B) lalkj pykus ds fy, O;fDr;ksa dh vko’;drk gksrh 

gSA 

(C) O;fDr dk vfLrRo laalkj ls Lora= gSA   

(D) lalkj dk vfLoRo O;fDr;ksa ls Lora= gSA 

36- ^vuqie* ls vfHkizk; gS&\ 

(A) lq[kn    

(B) vkuane; 

(C) euksgkjh     

(D) ftldh miek u nh tk lds 
 

funsZ’k&¼iz’u37 ls 45 rd½% fn, x, x|ka’k dks i<+dj] 

iwNs x, iz’uksa ds lgh@lcls mi;qDr mRrj okys fodYi 

dks pqfu,A  

x|ka’k 

leL;kvksa dk gy <w¡<+us dh {kerk ij ,d v/;;u 

fd;k x;kA blesa Hkkjr esa rhu rjg ds cPpksa ds chp 

rqyuk dh xbZA ,d rjQ ls cPps tks nqdkunkjh djrs gSa 

ij Ldwy ugha tkrs] ,sls cPps tks nqdku l¡Hkkyrs gSa vkSj 

Ldwy Hkh tkrs gaS vkSj rhljk lewg mu cPpksa dk tks 

Ldwy tkrs gS ij nqdku ij dksbZ enn ugha djrsA 

^muls x.kuk ds fdrkch o jkstejkZ ds thou esa mi;ksx gksus 

okys dqN iz’u iwNs x,A nksuksa gh rjg ds lokyksa esa mu 

Ldwyh cPpksa us tks nqdkunkj ugha gSa] ekSf[kd x.kuk ;k 

euxf.kr dk iz;ksx cgqr de fd;k] flok; muds tks 

nqdkunkj FksA Ldwyh cPpksa us ,slh xyfr;k¡ Hkh dha] ftudk 

dkj.k ugha le>k tk ldkA blls ;g lkfcr gksrk gS fd 

nqdkunkjh ls tqM+s gq, cPps fglkc yxkus esa xyrh ugha dj 
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ldrs] D;ksafd bldk lh/kk vlj muds dke ij iM+rk gS] 

tcfd Ldwyksa ds cPps ogh fglkc yxkus esa vDlj Hk;adj 

xyfr;k¡ dj nsrs gSaA 

            blls ;g Li"V gksrk gS fd ftu cPpksa dks 

jkstejkZ dh ftanxh esa bl rjg ds lokyksa ls tw>uk iM+rk 

gSa] os vius fy, t:jh xf.krh; {kerk gkfly dj ysrs gSaA 

ysfdu lkFk gh bl ckr ij Hkh xkSj djuk egRoiw.kZ gS fd 

bl rjg dh n{krk,¡ ,d Lrj rd vkSj ,d dk;Z&{ks= rd 

lhfer gksdj jg tkrh gSaA blfy, os lkekftd o lkaLd`frd 

ifjos’k tks fd Kku dks cukus o c<+kus esa enn djrs gSa] 

ogh ml Kku dks ladqfpr vkSj lhfer Hkh dj ldrs gSaA 

37- leL;kvksa dk gy [kkstus ij vk/kkfjr v/;;u fdl 

fo"k; ls tqM+k gqvk Fkk\ 

(A) lkekftd foKku   (B) xf.kr 

(C) Hkk"kk          (D) nqdkunkjh 
38- fdu cPpksa us loky gy djus esa ekSf[kd x.kuk dk 

T;knk iz;ksx fd;k\ 

(A) tks flQZ Ldwy tkrs gSa    

(B) tks cPps u rks nqdkunkjh djrs gSa vkSj u gh Ldwy 

tkrs gSa 
(C) tks Ldwyh cPps nqdkunkjh ugha djrs   

(D) tks nqdkunkjh djrs gSa 
39- vuqPNsn ds vk/kkj ij dgk tk ldrk gSa fd& 

(A) cPps jkstejkZ ds thou esa dke vkus okyh n{krkvksa dks 

Lor% gh gkfly dj ysrs gSa  
(B) flQZ nqdkunkj cPps gh xf.kr lh[k ldrs gSaA 
(C) cPpksa dks xf.kr lh[kuk pkfg, 

(D) cPpksa dks xf.kr lh[kus ds fy, nqdkunkjh djuh pkfg, 
40- nqdkunkj cPps fglkc yxkus esa izk;% xyrh ugha djrs] 

D;ksfd& 

(A) os dHkh Hkh xyrh ugha djrs    
(B) xyrh dk vlj muds dke ij iM+rk gS 

(C) blls mUgsa ekrk&firk ls Mk¡V iM+sxh   
(D) os tUe ls gh cgqr n{k gSa 
41- tks n{krk,¡ gekjs nSfud thou esa dke ugha vkrh] 

muesa gekjk izn’kZu vDlj& 

(A) [kjkc&vPNk gksrk jgrk gS   

(B) larks"ktud gksrk gS 

(C) [kjkc gksrk gS   
(D) vPNk gksrk gS 

42- vuqPNsn ds vk/kkj ij crkb, fd lkekftd o 

lkaLd`frd ifjos’k Kku dks& 

(A) lhfer dj ldrk gS    
(B) cukus esa enn Hkh djrk gS vkSj mls ladqfpr o lhfer 

Hkh dj ldrk gS 
(C) cukus esa enn djrk gS     

(D) ladqfpr dj ldrk gS 
43- ^bd* izR;; dk mnkgj.k gS& 

(A) lkaLd`frd  (B) pfdr 

(C) lhfer  (D) ladqfpr 
44- ^euxf.kr* dk vFkZ gS& 

(A) dfBu xf.kr (B) eux<+ar xf.kr 

(C) euilan xf.kr  (D) eu&gh&eu fglkc yxkuk 
45- la;qDr fØ;k dk mnkgj.k gS& 

(A) nqdku l¡Hkkyrs gSa (B) fglkc yxkrs gSa 

(C) Ldwy tkrs gSa (D) v/;;u fd;k x;k 

46- ,d ls vf/kd Hkk"kkvksa dk iz;ksx& 

(A) d{kk;h tfVyrkvksa dks c<+krk gS    

(B) f’k{kdksa ds fy, xgu leL;k gS 
(C) laKkukRed fodkl esa lgk;d gS     
(D) fdlh Hkh ,d Hkk"kk esa fuiq.krk esa ck/kd gS 
47- cPpksa dh Hkk"kk;h {kerk dh Øfed izxfr ds ckjs esa 

crkus esa lokZf/kd enn djrk gS 

(A) iksVZQksfy;ks   (B) fyf[kr ijh{kk 

(C) voyksdu    (D) tk¡p lwph 
48- d{kk easa fizaV le`) okrkoj.k ls vk’k; gS& 

(A) d{kk esa jaxhu pkVZ] iksLVj vkfn yxkuk   

(B) d{kk esa nhokjksa ij jaxhu dfork vkfn isaV djkuk 
(C) d{kk esa cM+s vkdkj esa o.kZekyk ds pkVZ yxkuk   
(D) d{kk esa i<+kbZ tk jgh fo"k;&oLrq ds vuq:Ik fyf[kr 

lkexzh iznf’kZr djukA 
49- fganh Hkk"kk lh[kus&fl[kkus ds fy, vfuok;Z gS& 

(A) le`) Hkk"kk ifjos’k dh miyC/krk    
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(B) fganh Hkk"kk dh fyf[kr ijh{kk 

(C) Hkk"kk dh n`’;&JO; lkexzh dh miyC/krk    
(D) Hkk"kk dh ikB~;&iqLrd dh miyC/krk 
50- fdl fof/k dks ^^ gjcVZ dh iap&in iz.kkyh** ds uke 

ls iqdkjrs gSa& 

(A) i| f’k{k.k  (B) x| f’k{k.k 
(C) ys[ku dkS’ky  (D) O;kdj.k fof/k 
51- lrr~ ,oa O;kid ewY;kadu ds vUrxZr okD;ka’k ^O;kid 

ewY;kadu* bafxr djrk gS\ 

(A) leLr ikB~;Øe dk ewY;kadu    

(B) lHkh fo"k;ksa dk ewY;kadu 
(C) laKkukRed] HkkoukRed ,oa euksxR;kRe {ks= dk 
ewY;kadu     
(D) laKkukRed {ks= dk ewY;kadu 
52- ^^bu xkoksa esa 'krkfCn;ksa ls gekjs iwoZt jgrs vk jgs 

gSaA** 

fdlh vuqPNsn dh mi;qDr iafDr esa ^’krkfCn;ksa* 'kCn dk 

vFkZ le>kus ds laca/k esa fuEufyf[kr esa ls dkSu&lk rjhdk 

lokZf/kd mfpr gS\ 

(A) vfHkHkkodksa ls iwNdj vkus ds fy, dgukA   

(B) ';keiê ij fy[kdj vFkZ crkukA 
(C) fo|kfFkZ;ksa dks iwjs vuqPNsn ds lanHkZ esa 'kCn dk vFkZ 

le>kus ds fy, izksRlkfgr djukA     
(D) 'kCndks’k ls vFkZ <w¡<us ds fy, izsfjr djukA 
53- cPpksa ds fy, vfrfjDr iBu lkexzh D;ksa fodflr dh 

tkrh gS\ 

(A) Hkk"kk&Kku c<+kus ,oa lkfgR;dkjksa esa :fp txkus ds 

fy,A    
(B) Hkk"kk&Kku c<+kus vkSj lkekU; Kku esa :fp txkus 

fy,A 
(C) i<+us esa #fp txkus ,oa Hkk"kk&Kku esa o`f) ds fy,A  

   

(D) i<+us esa #fp txkus ,oa 'kCndks'k esa o`f) ds fy,A 
54- uSnkfud ijh{k.k dk mn~ns’; gSa& 

(A) Nk= dh vfHkO;fDr dk lq/kkj djuk   

(B) Nk= dh detksfj;ksa dk irk yxkuk 

(C) Nk= esa ln~o`fRr;ksa dk fodkl djuk    

(D) Nk= dh Hkk"kk lEcU/kh {kerk dk ewY;kadu djuk 
55- v/;kid dk drZO; gS fd og ewy ikB izLrqr djus ls 

igys Nk=ksa ds fdl Kku dk irk yxk ys\ 

(A) iwoZ Kku  (B) mPp Kku 
(C) vYi Kku   (D) fuEu Kku 
56- izkFkfed Lrj dh d{kk esa fHkUu&fHkUu izkUrksa ds 

vyx&vyx Hkk"kk cksyus okys cPpksa dk ukekadu gqvk gSA 

,slh fLFkfr esa Hkk"kk cPpksa ds Hkk"kkbZ fodkl ds lanHkZ esa 

(A) vojks/k gh izLrqr djrh gS    

(B) cgqr cM+h leL;k cu tkrh gS 
(C) vueksy lalk/ku ds :Ik esa dk;Z djrh gS    
(D) tfVy pqukSrh ds :Ik esa dk;Z djrh gS 
57- mPp izkFkfed Lrj ij dfork f’k{k.k dh fdl fof/k dk 

iz;ksx fd;k tkrk gS\ 

(A) rqyuk fof/k  (B) iz’uksRrj fof/k 

(C) O;k[;k fof/k  (D) O;kl fof/k 
58- d{kk ^,d* esa cPpksa esa Hkk"kk dkS’ky dk fodkl fdl 

Øe esa gksuk pkfg,& 

(A) fy[kuk] i<+uk] lquuk] cksyuki    
(B) lquuk] fy[kuk] cksyuk] i<+uk 
(C) lquuk] cksyuk] i<+uk] fy[kuk     

(D) fy[kuk] cksyuk] i<+uk] lquuk 
59- mPp izkFkfed Lrj ij O;kdj.k i<+kus dh vkxeu 

i)fr esa& 

(A) mnkgj.k ls fu;e dh vksj tkrs gSa    
(B) fu;e ls mnkgj.k dh vksj tkrs gSa 
(C) O;kdj.k dh ikB~; iqLrd ij dsfUnzr jgrs gSa   

(D) tfVy ls ljy dh vksj tkrs gSa 
60- vk/kqfud f’k{k.k vf/kxe izfØ;k esa f’k{kd dh Hkwfedk 

gS& 

(A) cPpksa dks xf.kr] foKku vkSj Hkk"kk fl[kkus dh  
(B) cPpksa dks ewY; vk/kkfjr f’k{kk nsus dh 
(C) lh[kus gsrq ,d vPNs lqyHkdrkZ dh    

(D) cPpksa dks lHkh dqN Ik<+kus dh 



 

 

9 

Hkk"kk&II ¼vaxzsth½ 

Language-II (English) 

 

Directions:- (Q.1 to 6):- Read the passage 

given below and anser the questions that 

follow by selecting the most appropriate 

option. 

 As District Employment officer, my 

father was given a jeep by the government. 

There was no garage in the office, so the 

jeep was parked in our house. My father 

refused to use it commute to the office. He 

told us that the jeep is an expensive resource 

given by the government be reiterated to us 

that it was not „his jeep‟ but the 

government‟s jeep. Insisting that he would 

use it only to tour the interiors, he would 

walk to his office on normal days. He also 

made sure that we never sat in the 

government jeep. We would sit in it only 

when it was stationary. That was our early 

childhood lessons in governance - a lesson 

that corporate managers learn the hard way, 

some never do. 

     The driver of the jeep was treated 

with respect which was due to any other 

member of my father‟s office. As small 

children, we were taught not to call him by 

his name. We had to use the suffix „dada‟. 

Whenever we were to refer to him in public 

or private. When I grew up to own  a car and 

a driver by the name of Raju was appointed. 

I repeated the lesson to my two small 

daughters. They have, as a result, grown up 

calling him “Raju uncle” very different from 

many of their friends who refer to their 

family drivers as „my driver‟. When I hear 

that term from a school or college going 

person, I cringe. To me, the lesson was 

significant. You treat small people with 

more respect than you treat big people. It is 

more important to respect your subordinates 

than your superiors. 

61. The author‟s father would not allow 

his family to use the jeep because 

 (A) The roads were full of potholer. 

 (B) He was afraied of accidents. 

 (C) The jeep was in a bad condition. 

 (D) It was not their private vehicle 

62. The author taught his children to - 

 (A) Treat small people with respect 

 (B) maintain a discreet distance from 

servants. 

 (C) be kind to small people 

 (D) be firm with servants 

63. The author was critical of his 

children‟s friends because their 

attitude to servants smacked of 

 (A) Coorseness       (B) arrogance 

 (C) Loftiness           (D) weakness 

64. The author‟s attitude towards servants 

can be described as 

 (A) indifferent         (B) rational 

 (C) affectionate       (D) respectful 

65. The opposite of the word „refused‟ is 

 (A) received            (B) justified 

 (C) admired            (D) accepted 

66. The word that can replace „reiterated‟ 

is 

 (A) repeated            (B) recalled 

 (C) reconsidered     (D) revised 

Directions:- (Q.7 to 15):- Read the 

passage given below and answer the 

questions that follow by selecting the most 

appropriate option. 

Srinivasa Ramanujan (1887-1920): 

Ramanujan was born on December 2, 1887, 

in Erode (South India) as the eldest son in a 

family of six children. In November 1892, 
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he entered, the town High school at 

Kumbakonam as a half-fee scholarship- 

holder and passed the Matriculation 

Examination in 1904. In the school, he 

became a minor celebrity, walking off with 

merit certificates and prizes for academic 

brilliance. This school nourished him for six 

years, fringing him as close as he would 

over  come to a satisfying academic 

experience. When he was in the seventh 

standard, he gave clear evidence of his 

mathematical gifts, he could reel off the 

square root of a natural number to the 

specified number of places, he wuld point to 

the indeterminate nature of zero divided by 

zero. Ramanujan‟s mother- the family being 

close to penury- took in college students as 

boarders who were noticing Ramanujan‟s 

interest in mathematics, brought him text 

books from college library. Loney‟s 

„Trigonometry‟ was one such treasure which 

he mastered.   

 During 1906-1912, Ramanujan was 

constantly in search of an employer to earn 

his livelihood. With his “Note-books” as his 

only recommendation, he sought the 

patronage of V. Ramaswamy Iyer, the 

founder of Indian Mathmatical society who 

was at Tirukovillur asked for a clerical job 

in his office. The former had no mind to 

smother Ramanujan‟s genius and sent him 

back to Madras with a letter of introduction 

to P.V. Seshu Aiyar, then at the Presidency 

college, Madras. He gave in turn, 

Ramanujan a letter of R. Ramchandra Rao, 

the district collector, Nellore. This was the 

turning point in his life. 

      On the advice of P.V, Seshu Aiyar, 

Ramanujan communicated his theorems on 

divergent series  in a historic letter dated  

January 16, 1913 to G.H. Hardy, who was 

ten years senior to Ramanujan. With the 

personal interest of Gilbert walker and 

support given by India stalwarts, this 

University of Madras awarded its first 

scholarship to Ramanujan to study in 

Cambridge. Over the next three months, 

Ramanujan received four long letters from 

Hardy, who had already sprung into action 

advising the India office, of his wish to 

bring him Cambridge. 

67. Merit artificates and prizes awarded to 

Ramanujan at school are a proof of 

his 

 (A) Sixerity 

 (B) intellectual brilliance 

 (C) dedication 

 (D) commitment 

68. Ramanujan‟s mother took in college 

students as boarders because 

 (A) She wanted to give her son all the 

conforts of life. 

 (B) she wanted to save money to buy 

a house. 

 (C) She had to pay up huge debts. 

 (D) the family was on the verge of 

poverty. 

69. The turning point in Ramanujan‟s life 

came when  

 (A) He got a job in Indian 

Mathematical Society. 

 (B) His name was recommended to 

the District collector, Nellore 

 (C) He was awarded a big cash award. 

 (D) He was given a scholarship. 

70. The support Ramanujan received from 

his school suggests that 

(A) A talented person needs nourishment 

to flourish 

(B) Luck is more important than 

patronage. 

(C) Support or no support ment with 

talent forge ahead. 

(D) Fortune favours those who dare. 

71. Identify the correct statement. 

(A) Ramanujan did not get much support 

from his school. 
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(B) Ramanujan‟s mother did not want 

him to go abroad. 

(C) Seshu Aiyar was Ramanujan‟s 

patron. 

(D) Ramanujan was offered a job at 

Cambridge. 

72. The phrasel verb, „reel off‟ means to 

(A) fishing 

(B) rehearse easily 

(C) articulate fast 

(D) say quickly 

73. The  closest synonym for the the word 

„smother‟ is 

(A) stifle           (B) discourage 

(C) ruin            (D) deaden 

74. The antonyms for the word „recommend-

ation‟ is 

(A) condemnation     (B) criticism 

(C) revulsion             (D) disapproval 

75. The word that can best replace 

„nourished‟ is 

(A) sent                       (B) supported 

(C) served        (D) gifted 

76. Poetry teaching is generally meant for- 

(A) learning grammer 

(B) learning punctuation 

(C) enjoyment and appreciation 

(D) language learning 

77. ________ is prerequisite of language 

learning. 

(A) Imitation        (B) Motivation 

(C) Adaptability   (D) Discipline 

78. What status is given to English Language 

in the Indian Constitution? 

(A) Mother Tongue 

(B) Vernacular Language 

(C) Associated official Language. 

(D) Native language. 

79. “Learning includes both acquisition and 

Retention” who gave this statement? 

(A) Chomsky        (B) Skinner 

(C) Pavlov            (D) Watson 

80. When a teacher uses lesson in science 

and social science to teach language, 

such an approach can be termed as. 

(A) Subject centered approach 

(B) Formative assessment 

(C) Language across the curriculum 

(D) Language as a means of communica-

tion. 

81. The correct order of language skills for 

learning is - 

(A) Listeing, reading, writing, speaking 

(B) Reading, writing, speaking, listening 

(C) Listening, speaking, reading, writing. 

(D) reading, writing, listening, speaking 

82. Which language skills are also known as 

reinforcement skills? 

(A) Listening and speaking 

(B) Reading and writing 

(C) Listening and reading 

(D) Speaking and writing 

83. A Hindi speaking teacher gets posted in a 

primary school. Which is situated in a 

remote area of Rajasthan. Since she 

doesn‟t know the local language, she 

faces lots of problems. She should 

(A) Focus on text book as a source of 

standard Hindi. 

(B) Use the child‟s language, as a 

resource while teaching. 

(C) Encourage the comunity to learn 

standard Hindi. 

(D) Try to get a posting to a Hindi-

speaking area. 

84. In Communicative teaching teacher 

promotes communication by- 

(A) Teaches talk 

(B) Bonding of Alphabet 

(C) Creating nervousness 

(D) Creating Situation. 

85.  The challenge of Acquisition poor 

Environment refers to 

(A) Learners learning of literature. 

(B) Poor study habit 

(C) Pollution in English Language. 
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(D) Limitation of learning English langu-

age in classroom. 

86. One of the main barriers to listening skill 

is 

(A) Time & Dime 

(B) Barricades of class 

(C) Learner‟s prejudice 

(D) Unscathed Ear. 

87. Remedial teaching of language is meant 

for development of 

(A) Particular skills left by regular 

teaching 

(B) Areas left by regular teaching 

(C) Limitation of class size. 

(D) Both (A) & (B) 

88. Language should be taught to the 

learners according to their- 

(A) Age         (B) Interest 

(C) Both (A) & (B) 

(D) None of the above. 

89. The integral approach of language testing 

involves testing of 

(A) Primary language 

(B) Secondary language 

(C) Third language 

(D) Language in context. 

90. During preparation of test paper teacher 

takes care of item development according 

to 

(A) Nominated Evoluator 

(B) Instruction objectives 

(C) Number of copies to be distibuted 

(D) Seating arrangement 

 

laLd`r 

 

 v/kksfyf[kra x|ka'ka ifBRok iz'ukuke~ mÙkjkf.k 

 nnkrq& 

 ekuothoua i'kqor~ fujFkZda ukfLrA rL; 

 thoua fdefi mís';a fu/kk; vxzs ljfrA 

 Hkkjrh;k% fo}kUl% dFk;fUr ;r~ ekuothoua 

 ijksidkjk; HkorqA ;Fkk o`{kk] u|% vkn;% 

 Lodh;a loZLoa iq"i&Qy&nk#&tykfnda ijLeS 

 leiZ;fUr] rFkSo ekuo% ijs"kke~ midkjk; 

 Lodh;a iks"k.ka d`Rok vof'k"Vsu /kusu 

 ekuo&lsoka djksrqA egkHkkjrdkj% dFk;fr 

 &^^vkReu% izfrdwykfu ijs"kka u lekpjsr~A** 

 l% ,oefi onfr ;r~& 

  ^^v"Vkn'k&iqjk.ks"kq O;klL; opu};e~A 

  ijksidkj% iq.;k; ikik; ijihMue~AA** 

 psr~ o;a R;kxiwoZda thou;kiua ;ki;ke% rfgZ 

 les"kka u dsoya mUufr% Hkfo";fr( vfirq losZ 

 lqf[ku% Hkfo";fUrA ;% ;L; d`rs midjksfr] 

 l% d`rK% lu~ ;Fkkolja rL; midkje~ vfir 

 vo';eso dfj";frA ,"k% ekuo&LoHkko% 

 orZrsA vr% ijfgrk; dk;Z dqoZUr% ,oa 'kra 

 thoseA ,"k lukru% /keZ orZrs Hkkjrh;kuke~A 

61- dL; thoua ijksidkja fouk i'kqor~ fujFkZda 

ukfLr \ 

(A) okujk.kke~  (B) ekuokuke~ 
(C) ?kksVdkuke~  (D) typjk.kke~ 

62- iq"i&Qy&nk#&tykfnda ds ijLeS leiZ;fUr \ 

(A) ekuok%  (B) typjk% 
(C) unh&o`{kkn;% (D) xnZHkk% 

63- iqjk.kk% dfr la[;kdk% lfUr \ 

(A) }kn'k  (B) uo 
(C) iŒpn'k  (D) v"Vkn'k 

64- vL; x|ka'kL; 'kh"kZd orZrs & 

(A) ijksidkj%  (B) iki% 
(C) iq.;%  (D) thou;kiue~ 

65- ^ijihMue* dLeS Hkofr \ 

(A) iq.;k;  (B) ikik; 
(C) Hkj.kk;  (D) opuk; 

66- d% d`rK% Hkofr \ 

(A) ;L; d`rs midjksfr    
(B) ;L; d`rs onfr 
(C) ;L; d`rs ;q/;fr 
(D) ;L; d`rs Lukfr 

67- fda dqoZUr% 'kra those \ 

(A) ijfgrk; ikia dqoZUr%    
(B) ijfgrk; dk;Z dqoZUr% 
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(C) ijikik; dk;Z dqoZUr%    
(D) ijihMuk; dk;Z dqoZUr% 

68- ;fn o;a R;kxiwoZda thoua ;ki;ke% rnk 

vLekda fda Hkfo";fr \ 

(A) mUufr%  (B) mUufr% lq[ka p 
(C) nq% [ke~  (D) ihMue~ 

69- ^^v"Vkn'k--------------------ijihMue~** 

&bfr ;su dfFkre~ &  

(A) osnO;klsu  (B) dkfynklsu 
(C) HkoHkwfruk  (D) Hkklsu 
fgrksins'kL; ys[kd% ia- ukjk;.k 'kekZ vklhr~A 

rL; vfLeu~ xzUFks pRokj% Hkkxk% lfUr& 

fe=ykHk%]lqân~Hksn%] foxzg%] lfU/k% psfrA 

vfLeu xzUFks 43 dFkk% lfUrA v= 'yksdkuka 

la[;k 723 orZrsA 25 dFkk% iaprU=kr~ 

leq)rk% lfUrA v= i'kq&if{k&fo"k;dk% dFkk% 

orZUrsA ;S ckyk% eqfnrk% HkofUrA 

v/kksfyf[krkuka iz'ukuke~ mÙkjkf.k bna ifBRok 

nnkrq &  

70- fgrksins'kL; ys[kd% orZrs& 

(A) fo".kq% 'kekZ  (B) ukjk;.k 'kekZ 
(C) ck.kHkê%  (D) lqcU/kq% 

71- fgrksins'k% dfr Hkkxs"kq foHkä% \ 

(A) pRokj%  (B) iŒp 
(C) "kV~   (D) uo 

72- fgrksins'ks dfr% dFkk% lfUr \ 

(A) 43   (B) 25 
(C) 30   (D) 10 

73- fgrksins'ks iaprU=kr~ dfr dFkk% leq)rk% \ 

(A) 43   (B) 20 
(C) 25   (D) 28 

74- i'kq&if{k&fo"k;dk% dFkk% ;fLeu~ lfUr] l% 

orZrs& 

(A) fgrksins'k%  (B) xhrk 
(C) ckyjkek;.ke~ (D) fp=ehekalk 

75- i'kq&if{k&fo"k;dkfHk% dFkkfHk% ds eqfnrk% 

HkofUr \ 

(A) xnZHkk%  (B) okujk% 
(C) ckyk%  (D) eRL;k% 

fo|k nnkfr fou;a fou;kr~ ;kfr ik=rke~A 

ik=Rokn~ /kuekIuksfr /kukn~ /keZ% rr% lq[ke~AA 

ekrk 'k=q% firk oSjh ;su ckyks u ikfBr%A 

u 'kksHkrs lHkke/;s gale/;s cdks ;FkkAA 

v/khrs ; bna fuR;a uhfr'kkL=a Ük`.kksfr pA 

u ijkHkoeokIuksfr 'kØknfi dnkpuAA 

Hkksxk u HkqDrk o;eso HkqDrk%] 

riks u rIra o;eso rIrk%A 

dkyks u ;krks o;eso ;krk%]  

r`".kk u th.kkZ o;eso th.kkZ%AA 

vK% lq[kekjk/;% lq[krjekjk/;rs fo'ks"kK% AA 

KkuyonqfoZnX/ka ra tua czák∙fi u jŒt;frAA 

    ¼uhfr'krde~½ 

v/kksfyf[krkuka iz'ukuka mÙkjkf.k bna ifBRok 

nnkrq& 

76- fo|k fda nnkfr \ 

(A) ik=rke~  (B) fou;a 
(C) /kue~  (D) /keZe~ 

77- ik=kRokn~ fda vkIuksfr \ 

(A) /kue~  (B) fou;e~ 
(C) /keZe~  (D) ik=rke~ 

78- ;su cky% u ikfBr% l% firk fdn`'k 

(A) 'k=qor~  (B) oSjhor~ 
(C) galor~  (D) cdkor~ 

79- ;k ckya u ikB;fr lk ekrk dhn`'kh \ 

(A) 'k=q%  (B) oSfj.kh 
(C) dkfyuh  (D) ;kfeuh 

80- d% lq[ke~ vkjk/;% \ 

(A) vK%  (B) fo'ks"kK% 
(C) ew[kZ%  (D) egkew[kZ% 

81- lq[krje~ d% vkjk/;rs \ 

(A) fo'ks"kK%  (B) vK% 
(C) eksgu%  (D) l% 

82- KkuyonqfoZnX/ka tua d% u jŒt;fr \ 

(A) ew[kZ% vfi  (B) vK% vfi 
(C) fo'ks"kK% vfi (D) czák vfi 

83- ^^vK% lq[kekjk/;% ----------------** dL; 

xzUFkL; orZrs \ 

(A) uhfr'krdL; (B) iaprU=L; 
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(C) fgrksins'kL; (D) dFkklafjRlkxjL; 
84- vifBr% cky% lHkke/;s dFkfeo 'kksHkrs \ 

(A) 'k=qor~  (B) oSjhor~ 
(C) galor~  (D) gale/;s cdor~ 

85- ;% fuR;a uhfr'kkL=a Ük`a.kksfr v/khrs l% 

dLeknfi ijkHkoa u vkIuksfr \ 

(A) 'kqdknfi  (B) 'kØknfi 
(C) 'kkodknfi  (D) O;k?kzknfi 

86- ds u Hkqäk% o;eso Hkqäk% \ 

(A) o;eso  (B) Roeso 
(C) tuk ,oa  (D) Hkksxk%  

87- fda u rIre~ \ o;eso rIrk% & 

(A) if{k.k%  (B) Lo.kZe~ 
(C) ri%  (D) rs 

88- dk u th.kkZ] o;eso th.kkZ%& 

(A) Hkksxk%  (B) ri% 
(C) r`".kk  (D) rs 

89- d% u ;kr~ \ o;eso ;krk%& 

(A) r`".kk&  (B) dky% 
(C) Hkksx%  (D) ri% 

90- /kukr~ fda izkI;rs \ 

(A) fo|k  (B) fou;% 
 (C) /kue~  (D) /keZ% 
 

Mathematics 
 

91. The ratio of three angles of a triangle 

is 2:3:4. The measure of all three 

angles of triangle is. 

(A) 400 , 600 , 800 (B) 200 , 300 , 400 

(C) 300 , 400 , 600 (D) 300 , 750 , 1000 

,d f=Hkqt ds rhuksa dks.kksa dk vuqikr 2%3%4 gSA 

f=Hkqt ds rhuksa dks.kksa dh ek; gS& 

(A) 400 , 600 , 800 (B) 200 , 300 , 400 

(C) 300 , 400 , 600 (D) 300 , 750 , 1000 

92. The value of 6 
2

3
 + 4 

1

5
 +10 

1

5
 is 

(A) 20 
7

60
  (B) 21 

7

60
 

(C) 22 
7

60
  (D) 19 

7

60
 

6 
2

3
 + 4 

1

5
 +10 

1

5
 dk eku gS& 

 

(A) 20 
7

60
  (B) 21 

7

60
 

(C) 22 
7

60
  (D) 19 

7

60
 

93. If 10% of x is equals to 20% of y, then 

x:y will be - 

(A) 1:2  (B) 2:1 

(C) 5:1  (D) 10:1 

;fn x dk 10%,y ds 20%  ds cjkcj gS] rks 

x:y gksxk&  

(A) 1:2  (B) 2:1 

(C) 5:1  (D) 10:1 

94. If cost price of 12 pens is equal to 

selling price of 16 pens, then profit/ 

loss in percentage is equal to - 

(A) 25% profit (B) 25% loss 

(C) 40% profit (D) 40% loss 

;fn 12 isuksa dk Ø; ewY; 16 isuksa ds foØ; 

ewY; ds cjkcj gS] rks ykHk@gkfu dk izfr'kr 

cjkcj gS& 

(A) 25% ykHk  (B) 25% gkfu 

(C) 40% ykHk (D) 40% gkfu 

95. In given parallelogran ABCD, values 

of x and y are equal to - 

(A) x = 250; y = 12.50    

(B) x = 12.50; y = 250 

(C) x = 150; y = 300    

(D) x = 300; y = 150 

fn, x, lekUrj prqHkqZt ABCD esa x vkSj y 

ds eku cjkcj gSa& 

(A) x = 250; y = 12.50    

(B) x = 12.50; y = 250 

(C) x = 150; y = 300    

(D) x = 300; y = 150 

96. Out of following which statement 

does not show nature of Mathematics 

? 
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(A) Mathematics has its own language 

from which formula, concept and 

principles are derived.    

(B) In Mathematics there is scope to 

explain the abstract concept. 

(C) In mathematics area of generalis-

ation is narrow.    

(D) Numbers places, measurement are 

base of mathematics. 

fuEu esa ls dkSu lk dFku xf.kr dh izd`fr dks 

ugh n'kkZrk gS\ 

(A) xf.kr dh viuh Hkk"kk gksrh gS ftlds 

ek/;e ls lw=] izR;;] fl)kUr dk izfriknu 

fd;k tkrk gSA    

(B) xf.kr esa vewrZ izR;;ksa dh O;k[;k dk 

volj gksrk gSA  

(C) xf.kr esa lkekU;hdj.k dk {ks= ladqfpr 

gksrk gSA     

(D) la[;k,¡] LFkku] ekiu vkfn xf.kr dk 

vk/kkj gSA 

97. "The progress and the inprovement of 

Mathematics are linked to the 

prosperity of the state. "This 

statement reflects which value of 

mathematics ? 

(A) Moral value of Mathematics  

(B) Social Value of Mathematics 

(C) Artistic value of mathematics  

(D) Disciplinary value of mathem-

atics. 

^^xf.kr dh mUufr rFkk o`f) ns'k dh leiUurk 

ls lacfU/kr gSA** ;g dFku xf.kr ds dkSu ls 

ewY; dks iznf'kZr djrk gS\ 

(A) xf.kr dk uSfrd ewY;    

(B) xf.kr dk lkekftd ewY; 

(C) xf.kr dk dykRed ewY;    

(D) xf.kr ds vuq'kklukRed ewY; 

98. Out of the following which is not the 

characteristic of informal assessment 

?  

(A) Looking in pupil's answer books 

as they are working.    

(B) Listening to pupil's talking to 

other pupils as they explain the work 

or engage in discussion. 

(C) Monitor responses to teacher 

questioning .    

(D) Awarding marks/grades after 

evaluating answer book. 

fuEufyf[kr esa ls dkSu lk vukSipkfjd vkdyu 

dh fo'ks"krk dks ugha n'kkZrk gS\ 

(A) fo|kFkhZ viuh mÙkj&iqfLrdkvksa esa tSlk 

dk;Z dj jgs gksa] ml rjQ ns[kukA   

(B) fo|kFkhZ tc vU; fo|kfFkZ;ksa dks le>kus 

vFkok ppkZ esa O;Lr gksa] mudks lquukA  

(C) v/;kid }kjk iwNs x, iz'uks ij fn, tkus 

okys mÙkjksa dks ekWfuVj djukA    

(D) fo|kfFkZ;ksa dh mÙkj&iqfLrdkvksa dks tk¡p dj 

vad@xzsfMax iznku djukA  

99. Out of the following which statement 

is not correct with regard to 

characteristics of mathematics ? 

(A) Mathematics is called the science 

of logical reasoning.   

(B) Mathematics is a way to settle in 

the mind a habit of reasoning . 

(C) Mathematics is not an abstroct 

science.    

(D) Mathematics has been defined as 

the science of number and space. 

uhps fn, x, dFkuksa esa ls dkSu lk dFku xf.kr 

dh fo'ks"krk dks lgh&lgh ugha n'kkZrk gS\ 

(A) xf.kr fopkjksa dk rkfdZd foKku gSaA   

(B) xf.kr euq"; ds efLr"d esa rdZ dh vknÙk 

dks cukus dk ekxZ gSA  

(C) xf.kr vewrZ foKku ugha gSA   

(D) xf.kr dks la[;k ,oa LFkku ds foKku ds 

:i esa ifjHkkf"kr fd;k x;k gSA  

100. To know the nature and characteris 

tics of error took place by students 

while solving the problems of 

mathematics is known as - 

(A) Content analysis in Mathematics   

(B) Error analysis in Mathematics  

(C) Content synthesis in Mathematics  
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(D) Error synthesis in Mathematics 

fo|kfFkZ;ksa }kjk xf.krh; leL;kvksa ds gy djus 

ds nkSjku dh tkus okyh xyfr;ksa dh izd`fr vkSj 

fo'ks"krkvksa dks tkuus dh izfØ;k dks dgk tkrk 

gSA  

(A) xf.kr esa fo"k;oLrq fo'ys"k.k   

(B) xf.kr esa =qfV fo'ys"k.k 

(C) xf.kr esa fo"k;oLrq la'ys"k.k   

(D) xf.kr esa =qfV la'ys"k.k 

101. Situation presented by teacher in the 

classroom to find the attention of 

students towards new topic is known 

as - 

(A) Previous knowledge    

(B) Introduction  

(C) Statement of aim    

(D) Ideal question 

u;s izdj.k ds izfr fo|kfFkZ;ksa dk /;ku vkdf"kZr 

djus ds fy, v/;kid }kjk d{kk&d{k esa izLrqr 

dh tkus okyh ifjfLFkfr;ksa dks dgrs gSaA 

(A) iwoZ Kku  (B) izLrkouk 

(C) mís'; dFku (D) vkn'kZ iz'u 

102. Out of following which statements 

does not show principles of curricu-

lum construction in Mathematics ? 

(A) Curriculum of Mathematics shou-

ld be child centered.    

(B) Curriculum of mathematics 

should be activity based. 

(C) Curriculum of mathematics 

should be logically & Psychologically 

arranged.      

(D) Curriculum of mathematics need 

not require teacher's acceptance  

fuEufyf[kr esa ls dkSu lk dFku xf.kr ds 

ikB~;Øe fuekZ.k dks vPNh rjg ls ugha n'kkZrk 

gS\ 

(A) xf.kr dk ikB~;Øe fo|kFkhZ dsfUnzr gksuk 

pkfg,A    

(B) xf.kr dk ikB~;Øe fØ;k vk/kkfjr gksuk 

pkfg,A 

(C) xf.kr dk ikB~;Øe euksoSKkfud ,oa 

rkfdZd <ax ls O;ofLFkr gksuk pkfg,A   

(D) xf.kr dk ikB~;Øe xf.kr v/;kid dh 

lgefr dks vko';d ugha ekurkA 

103. Out of following which is not best 

way of knowing the weakness of 

students in mathematics ?  

(A) Asking questions inside or outside 

classroom.    

(B) Oral work 

(C) Analysis of answer script of 

students.    

(D) by comparing students. 

fuEufyf[kr esa ls dkSu lh fof/k fo|kfFkZ;ksa esa 

xf.kr lEcU/kh detksjh tkuus dh vPNh fof/k 

ugha gS\ 

(A) fo|kfFkZ;ksa ds d{kk ds vUnj ,oa ckgj  

(B) ekSf[kd dk;Z 

(C) fo|kfFkZ;ksa dh mÙkj&iqfLrdkvksa dk fo'ys"k.k  

(D) fo|kfFkZ;ksa esa rqyuk djds 

104. Nature of mathematics is- 

(A) It is difficult (B) It is logical 

(C) It is ornamental 

(D) It is not for average students. 

xf.kr dh izd`fr gsS& 

(A) ;g dfBu gS (B) ;g rkfdZd gS 

(C) ;g vyadkfjd gS  

(D) ;g vkSlr fo|kfFkZ;ksa ds fy, ugha gS 

105. In which of the following practice 

teaching helps? 

(A) To increase learning transfer  

(B) To increase understanding 

solution of the problen. 

(C) To develop efficiency use of 

theoretical knowledge.    

(D) To work quickly of any problem. 

vH;kl f'k{k.k fuEu esa ls lg;ksx djrk gSA 

(A) vf|xe LFkkukUrj.k esa o`f) djus    

(B) leL;k ds gy dh le> c<+kus 

(C) lS)kafrd Kku dk mi;ksx djus dh {kerk 

dk fodkl djus esa    

(D) fdlh leL;k ds 'kh/kz dk;Z djus  
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106. Importance of action mathematics is. 

(A) Direct experience    

(B) learning by self - doing 

(C) To be permanent and clear of 

concepts.  

(D) All of the above. 

fØ;kRed xf.kr dk egRo gS& 

(A) izR;{k vuqHko (B) Lo;a djds lh[kuk 

(C) vo/kkj.kkvksa dk Li"V ,oa LFkk;h gksuk  

(D) mijksDr lHkh 

107. Suitable method of arithmetic 

teaching is- 

(A) Project method.    

(B) Demonstration method. 

(C) Analytic method    

(D) None of the above 

vadxf.kr f'k{k.k dh mi;qDr fof/k gS& 

(A) izkstsDr fof/k (B) izn'kZu fof/k 

(C) fo'ys"k.k fof/k (D) buesa ls dksbZ ugha 

108. In mathematics teaching  main role of 

mathematics teacher is . 

(A) Philosopher (B) Friend 

(C) Counselor (D) All of these 

xf.kr f'k{k.k esa v/;k;d dh eq[; Hkwfedk gS& 

(A) nk'kZfud  (B) fe= 

(C) ijke'kZd  (D) ;s lHkh 

109. Out of the following which is not the 

exact characteristics of objective of 

Mathematics teaching in classroom. 

(A) Should be related to life.   

(B) Should be in behavioural terms 

(C) Should be testable    

(D) Should be specific 

fuEufyf[kr esa ls d{kk esa xf.kr f'k{k.k ds 

mís';ksa dh lVhd fo'ks"kd ugha gS& 

(A) thou ls lacaf/kr gksus pkfg,A   

(B) O;ogkfjd inksa esa gksus pkfg,A 

(C) ijh{k.k ;ksX; gksus pkfg,A    

(D) fof'k"V gksus pkfg,A 

110. Out of following which of the 

teaching method in mathematics is 

difficult to use in formal classroom 

situation ? 

(A) Inductive (B) Deductive 

(C) Project  (D) Analytic 

fuEu esa ls dkSu lh f'k{k.k fof/k dks vkSipkfjd 

d{kk O;oLFkk esa iz;ksx djuk dfBu gS\ 

(A) vkxeukRed (B) fuxeukRed 

(C) ifj;kstuk  (D) fo'ys"k.kkRed 

111. If some amount in rupees at the 

annual rate of simple interest 5% for 

six years become Rs. 2600, then the 

amount is.  

(A) Rs. 1800 (B) Rs. 1900 

(C) Rs. 2000 (D) Rs. 2200 

;fn dksbZ jkf'k 5% okf"kZd lk/kkj.k C;kt dh 

nj ls 6 o"kksZ esa #-2600 gks tkrh gS rks jkf'k 

gS& 

(A) #- 1800  (B) #- 1900 

(C) #- 2000  (D) #- 2200 

112. Convert 10 m/s into km/h. 

(A) 30  (B) 25 

(C) 20  (D) 36 

10 eh-@ls- dks fdeh@?k.Vs esa cnysaA 

(A) 30   (B) 25 

(C) 20  (D) 36 

113. If number 62532915a, completely 

divisible by 6 then the largest digit at 

the place of 'a' will be. 

(A) 5   (B) 6 

(C) 8   (D) 9 

;fn la[;k 62532915a, 6 ls iw.kZr% foHkkT; 

gS] rks 'a' ds LFkku ij lcls cM+k vad gksxk& 

(A) 5   (B) 6 

(C) 8   (D) 9 

114. Sum of the first five positive prime 

numbers is. 

(A) 20  (B) 39 

(C) 28  (D) 18 

izFke ik¡p /kukRed vHkkT; la[;kvksa dk ;ksx 

gS& 

(A) 20   (B) 39 

(C) 28  (D) 18 

115. If the circumference of circle is 44 cm 

then is area will be. 
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(A) 49 cm2  (B) 98 cm2 

(C) 154 cm2  (D) 151 cm2 

;fn ,d o`Ùk dh ifjf/k 44 lseh gS] rks mldk 

{ks=Qy gksxk \ 

(A) 49 cm2  (B) 98 cm2 

(C) 154 cm2  (D) 151 cm2 

116. The highest common factor of two co-

prime numbers will be- 

(A) 0   (B) 1 

(C) 2   (D) 3 

nks lg vHkkT; la[;kvksa dk egÙke lek;orZd 

gksxk & 

(A) 0   (B) 1 

(C) 2   (D) 3 

117. The difference of place values of 7  in 

1715.271 is- 

(A) 0   (B) 700 

(C) 700.07  (D) 699.93 

1715-271 esa 7 ds LFkkuh; ekuksa dk vUrj gSA 

(A) 0   (B) 700 

(C) 700.07  (D) 699.93 

118. The average age of a man and his son 

is 40 years. The ratio of their ages is 

11:5 respectively. What is the son's 

age ?  

(A) 20 years  (B) 25 years 

(C) 28 years  (D) 30 years 

,d O;fDr rFkk mlds iq= dh vkSlr vk;q 40 

o"kZ gSA budh vk;q dk vuqikr Øe'k% 11%5 gSA 

rks iq= dh vk;q D;k gksxh \ 

(A) 20 o"kZ  (B) 25 o"kZ 

(C) 28 o"kZ  (D) 30 o"kZ 

119. A canteen requires 56 kgs rice for 

seven days. How many kgs. Of rice 

will it require for the month of april & 

may together ? 

(A) 476 kgs  (B) 490 kgs. 

(C) 488 kgs  (D) 498 kgs. 

,d dSaVhu esa lkr fnuksa ds fy, 56 fdxzk- 

pkoy dh vko';drk gksrh gS] rks vizSy rFkk 

ebZ ekg esa dqy feykdj fdrus fdxzk- pkoy dh 

vko';drk gksxh \ 

(A) 476 fdxzk-  (B) 490 fdxzk- 

(C) 488 fdxzk- (D) 498 fdxzk- 

120. The length of a rectangle is 3 times of 

its breadth. If the area of rectangle is 

1407 m2, then find its perimeter. 

(A) 56 m.  (B) 28 m. 

(C) 48 m.  (D) 49 m. 

,d vk;r dh yEckbZ mldh pkSM+kbZ dh rhu 

xquh gSA ;fn bl vk;r dk {ks=Qy 147 oxZ 

eh- gks] rks bldk ifjek; Kkr djsaA 

(A) 56 eh-  (B) 28 eh- 

 (C) 48 eh-  (D) 49 eh- 
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EVS (i;kZoj.k½ 

121. ,dy ifjokj dk laca/k fdlls gSa\ 

(A) 1950 ds ckn iSnk gqvk dksbZ ifjokj 

(B) ,dy ekrk&firk vkSj muds cPpksa okyk 

ifjokj 

(C) cPpksa] muds ekrk&firk rFkk nknk&nknh 

lfgr iwjk ifjokj 

(D) dsoy ifr&iRuh 

122. jk"Vªifr }kjk jkT; lHkk esa fdrus lnL;ksa dks 

ukfer fd;k tkrk gSa\ 

 (A) 12 (B) 15     (C) 20   (D) 22 

123. fo’o esa fdl ns’k esa lcls vf/kd V~;wcosy 

gSa\ 

 (A) vesfjdk  (B) vkWLVªsfy;k 

 (C) phu  (D) Hkkjr 

124. ,-Vh-,e- dk iwjk uke fd;k gSa\ 

 (A) vkWVksesfVM Vsyj e’khu 

 (B) vkWy Vkbe euh 

 (C) vkWVksesfVM VªkalQj e’khu 

 (D) vkWfMV Vsyj e’khu 

125. Msaxw jksx dk okgd gS& 

 (A) ,fM+t ePNj (B) D;wysDl ePNj 

 (C) ?kjsyw eD[kh (D) ,ukWQyht ePNj 

126. ekuo 'kjhj dh tSo&jklk;fud iz;ksx’kkyk gS& 

 (A) vek’k;  (B) ;d`r 

 (C) vkar  (D) xqnkZ 

127. iYl iksfy;ks vfHk;ku dk mís’; D;k gS\ 

 (A) iksfy;ks dk mipkj 

 (B) iksfy;ks ds i{kk?kkr izHkko dks jksduk 

 (C) iksfy;ks dk iwjh rjg ls mUewyu 

(D) mijksDr lHkh 

 

 

 

  EVS (i;kZoj.k½ 

121- Nuclear family efers to-  

(A) any family born after 1950- 

(B) Family includes parents and their 

children.  

(C) Entire family including children 

their parents and grandparnets.  

(D) Only Husband and wife 

122- How many members of Rajya 

Sabha are nominated by the 

President?  

(A) 12 (B) 15    (C) 20  (D) 22 

123- Which Country has the maximum 

numbr of tube-wells in the world? 

(A) America (B) Australia  

(C) China  (D) India 

124- What is the full form of ATM? 

(A) Automated Teller Machine 

(B) All time Money 

(C) Automated Transfer Machine 

(D) Audit Teller mahine 

125- Corrier of Dengue disease is- 

(A) Aedes mosquito 

(B) Culex mosquito 

(C) Housefly 

(D) Anopheles mosquito 

126- The biochemical laboratory of 

human body is-  

(A) Stomach (B) Liver 

(C) Intestine (D) kidney 

127- Whaat is the aim of pulse polio 

programe is  

(A) Treatment of polio 

(B) Stop paralytic effect of polio 

(C) Complete eradication of polio 

(D) all of these  
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128- d'ehjh xkmu dks fdlds :Ik esa  tkuk 

tkrk gS\ 

(A) fQju  (B) vaxj[kh 

(C) cqxrkjh  (D) vpdu 

129- inkFkZ dh fdl voLFkk esa v.kqvksa ds chp 

U;wure nwjh gksrh gSa\ 

(A) Bksl  (B) rjy 

(C) xSl  (D) IykTek 

130- fdl jkT; dks ^ck?k jkT;* ds :Ik esa tkuk 

tkrk gSa\ 

(A) jktLFkku  (B) if’pe caxky 

(C) xqtjkr  (D) e/;izns’k 

131- ?k"kZ.k ds fo"k; esa ppkZ djrs le; ,d 

f’kf{kdk us bl ladYiuk dh O;k[;k djrs 

gq, cgqr ls mnkgj.k fn,A buesa ls dqN 

,sls mnkgj.k ftuesa ?k"kZ.k gekjs nSfud 

thou esa mi;ksxh gS] ml f’kf{kdk us d{kk 

esa fn, tks uhps fn;s x, gSA 

A- ge isu dh uksad vkSj dkxt ds chp 

?k"kZ.k gksus ds dkj.k gh ge fy[k ikrs 

gSA 

B- ge Q’kZ ij gekjs iSjksa vkSj Q’kZ ds 

chp ?k"kZ.k gksus ds dkj.k py ikrs gSA 

C- Å/okZ/kj Åij Qsadh xbZ dksbZ xsan ?k"kZ.k 

ds dkj.k gh gekjs ikl okil ykSVrh 

gSA 

D- ?k"kZ.k ds dkj.k gh ge fdlh xfr’khy 

okgu dks czsd yxkdj jksdrs gSaA  

buesa lgh mnkgj.k gSa&  

 (A) A, B, C  (B) B, C, D 

 (C) C, D, A  (D) D, A, B 

 

 

128- Kashmiri gown is known as- 

 (A) Firan  (B) Angrakhi 

 (C) Bugtari  (D) Achkan 

129- In which state of matter, the 

distance between the moeculas is 

minimum?  

 (A) Solid  (B) Liquid 

 (C) Gas  (D) Plasma 

130- Which state is known as „Tiger 

State‟?  

 (A) Rajasthan (B) West Bengal 

 (C) Gujarat      (D) Madhya Pradesh 

131- Which discussing about friction, a 

teacher gave a number of examples 

to explain the concept. Some of the 

examples where friction is useful in 

our day to day life as quoted by the 

teacher are given below.  

A- We are able to write because of 

friction between the tip of the pen 

and paper.   

B- We are able to walk because of 

friction between our feetand the 

ground. 

C- A ball thrown vertically upwards 

comes back to us due to friction. 

D- We ae able to stop a moving 

vehicle by applying brakes of 

friction.  

 The Correct examples are- 

 (A) A, B, C  (B) B, C, D 

 (C) C, D, A  (D) D, A, B 
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132- iz;ksx vkSj iz;ksxkRed dk;Z djrs gq, 

';kek dk fu"iknu d{kk esa loZJs"B gksrk 

gSA mls cgqr l`tukRed f’k{kkFHkZ ekuk 

tkrk gSA blfy, og ------------- ds 

}kjk ladYiukvksa dks lh[krh gSA 

 (A) vuqdj.k  (B) vfHklkjh fparu 

 (C) vilkjh fprau (D) ekWMfyax 

133- ------------- ds vykok cPps ds fodkl dks 

vkdkj nsus okys okrkoj.kh; dkjdks esa 

fuEufyf[kr lHkh 'kkfey gSaA 

 (A) 'kkjhfjd xBu 

 (B) laLd`fr 

 (C) f’k{kk dh xq.koRrk 

 (D) ikSf"Vdrk dh xq.koRrk 

134- lg;ksxkRed vf/kxe esa iqjkus ,oa vf/kd 

n{k fo|kfFk;ksZa dk vkdyu djrs gSaA bldk 

ifj.kke gSA  

 (A) mPPk miyfC/k vkSj Lo&xfjek 

 (B) mPp uSfrd fodkl  

 (C) lewgksa esa }a} 

 (D) xgu izfr;ksfxrk 

135- fMLysfDl;k eq[;r% ----------dh leL;k ls 

lacf/kr gSA  

 (A) lquus  (B) cksyus 

(C) cksyus vkSj lquus (D) i<+us 

 

132-  While doing experiments and 

practical workds, shyama‟s 

performance is the best inher class. 

She is considered a very creative 

person. So she is learning the 

concept by 

 (A)Imitation 

 (B)Convergentthinking 

 (C) Divergent thinking 

 (D)Modelling 

133- Environmental factors that shape 

the development o a child include 

all of the following accept- 

 (A) physique 

 (B) Culture 

 (C) Quality of education  

 (D) Quality of nutrition 

134-  In co-operataive barning, older 

and more proficient students assist 

younger and lesser skilled students. 

This leads to- 

 (A) Higher achievement and self-

estern 

 (B) Higher moral development  

 (C) Conflict between the groups 

 (D) Intense competition. 

135- Dyslexia is associated mainly with 

difficulties in………….  

 (A) Hearing     (B) Speaking 

 (C) Speaking and hearing 

 (D)Modelling 
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136- ------------- ds vykok cPps ds fodkl dks 

vkdkj nsus okys okrkoj.kh; dkjdks esa 

fuEufyf[kr lHkh 'kkfey gSaA 

 (A) 'kkjhfjd xBu (B) laLd`fr 

 (C) f’k{kk dh xq.koRrk 

 (D) ikSf"Vdrk dh xq.koRrk 

137- lg;ksxkRed vf/kxe esa iqjkus ,oa vf/kd 

n{k fo|kfFk;ksZa dk vkdyu djrs gSaA bldk 

ifj.kke gSA  

 (A) mPPk miyfC/k vkSj Lo&xfjek 

 (B) mPp uSfrd fodkl  

 (C) lewgksa esa }a} (D) xgu izfr;ksfxrk 

138- fMLysfDl;k eq[;r% ----------dh leL;k ls 

lacf/kr gSA  

 (A) lquus  (B) cksyus 

 (C) cksyus vkSj lquus (D) i<+us 

139- i;kZoj.k v/;;u dh d{kk esa ladYiukvksa 

dks Li"V djus ds fy, dforkvksa vkSj 

dgkuh& dFku dk iz;ksx djuk -----------

- lgk;rk djrk gSA  

 (A) f’k{kkfFkZ;ksa esa fufgr Hkk"k ,oa lkaLd`frd 

fofo/krkvksa dk /;ku j[kus esa 

 (B) lgh fn’kk essa fo|kfFkZ;ks dh ÅtkZ dk 

lkj.khdj.k djus esa 

 (C) ikB dks vkuannk;h vkSj jkspd cukus 

esa 

 (D) LFkkuh; ,oa oSf’od Lrj ij lalkj dh 

izd`fr dks [kkstus vkSj dYiuk djus dh 

;ksX;rk dks c<+kok nsus esA 

 

 

 

136- Environmental factors that shape 

the development o a child include 

all of the following accept- 

 (A) physique 

 (B) Culture 

 (C) Quality of education  

 (D) Quality of nutrition 

137-  In co-operataive barning, older 

and more proficient students assist 

younger and lesser skilled students. 

This leads to- 

 (A) Higher achievement and self-

estern 

 (B) Higher moral development  

 (C) Conflict between the groups 

 (D) Intense competition. 

138- Dyslexia is associated mainly with 

difficulties in………….  

 (A) Hearing      (B) Speaking 

 (C) Speaking and hearing 

 (D) Reading 

139- The use of poems and story telling 

to explain concepts in an EVS class 

helps to………… 

 (A) take care of the language and 

cultural diversity among barners. 

 (B) channelire the energies of the 

students in the right direction.  

 (C) make the lesson enjhoyable and 

interesting 

 (D) promote, the ability to imagine 

and explore the nature of the world 

at the localand global level.   
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140- ,d f’k{kd i<+krs le; JO;&n`’; lkefxz;ksa 

,oa 'kkjhjd xfrfo/k;ksa dk iz;ksx djrk gS 

D;ksafd ;s&  

 (A) izHkkoh vkdyu dks lqxe cukrs gSa 

 (B) f’k{kkfFkZ;ksa dks fn’kk&ifjorZu miyC/k 

djkrs gSa 

 (C) vf/kxe o`f) esa vf/kdre bafnz;ksa dk 

mi;ksx djrs gSa 

 (D) f’k{kd dks vkjke miyC/k djkrs gSa 

141- e/;izns’k es orZeku es fdrus ftys gSa\ 

 (A) 51  (B) 52 

 (C) 53  (D) 54 

142- e/;izns’k ds fdl ftys dk fyaxkuqikr 

lokZf/kd gSa\ 

 (A) fNanokM+k  (B) ckyk?kkV 

 (C) e.Myk  (D) mefj;k 

143- ’kCn ^vf/kxe v{kerk* dk iz;ksx loZizFke-

---------- }kjk fd;k x;k FkkA  

 (A) boku ikoyo (B) DykdZ gy 

 (C) lSewvy fddZ (D) ts-ch-okVlu 

144- fdl /kkrq dk mi;ksx lksyj lsy cukus esa 

djrs gSa\ 

 (A) lksuk  (B) yksgk 

 (C) ,Y;qehfu;e (D) flfydkWu 

145- ^lqugjk js’kk* ls vfHkizk; gSa 

 (A) dikl  (B) iVlu 

 (C) uk;ykWu  (D) js’ke 

146- thok.kqvksa dks ekjus ds fy, ty esa 

dkSu&lh xSl izokfgr djrs gSa\ 

 (A) czksehu  (B) Dyksjhu 

 (C) vk;ksMhu  (D) ukbVªkstu 

 

 

140- A teacher uses audio-visual aids 

and physical activities in her 

teaching because they  

 (A) facilitate effective assessement  

 (B) provide a diversion to learners 

 (C) Utilize maximum number of 

senses to enhance barning  

 (D) Provide relief to the teacher. 

141- At present how many districts are 

there in Madhya Pradesh? 

 (A) 51  (B) 52 

 (C) 53  (D) 54 

142- Which district of Madhya Pradesh 

has the highest sex-ratio/  

 (A) Chhindwara (B) Balaghat 

 (C) Mandla  (D) Umaria 

143- The word „Learning Disability‟ was 

first used by ……….  

 (A) Ivan pavlov (B) Clark Hull 

 (C) Samuel Kirk (D) J.B.Watson 

144- Which metal is used for making 

solare cell? 

 (A) Gold  (B) Iron 

 (C) Aluminium (D) Silicon 

145- „Golden Fibre‟ refers to: 

 (A) Cotton  (B) Jute 

 (C) Nylon  (D) Silk 

146- Which gas is passed in the water to 

kill bacteria?  

 (A) Bromine (B) Chlorine 

 (C) Iodine  (D) Nitrogen 
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147- jkWdsV fdlds laj{k.k ds fl)kar ij dk;Z 

djrk gSa\ 

 (A) cy  (B) laosx 

 (C) osx  (D) nzO;eku 

148- fo’o ty fnol euk;k tkrk gSA 

 (A) 22 ekpZ  (B) 22 vizSy 

 (C) 23 ekpZ  (D) 23 vizSy 

149- LFkukarfjr d`f"k dks czkthy esa dgrs gSa 

 (A) feYik   (B) >wfeax 

 (C) jksdk  (D) ynkax 

150- ukfHkdh; fj,DVj esa bZa/ku ds fy, fdl 

rRo dk mi;ksx djrs gSa\ 

 (A) ;wjsfu;e  (B) dSMfe;e 

 (C) Y;wrsfr;e  (D) lksfM;e 

 

 

 

 

 

 

 

  

147- Rocket works on the principle of 

conservation of : 

 (A) Force  (B) Momentum 

 (C) Velocity (D) Mass 

148- World water day is celebrated on-  

 (A) 22 March (B) 22 April 

 (C) 23 March (D) 23 Aptil 

149- Shifting agriculture in Brazil is 

known as:  

 (A) Milpa   (B) Jhuming 

 (C) Roca  (D) Ladang 

150- Which element is used in nuclear 

reactor for fuel? 

 (A) Uranium (B) Cadmium 

 (C) Lutetium (D) Sodium 
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ANSWERS (Hindi and English) 

1 D 21 D 41 C 61 D 81 C 101 B 121 B 141 B 

2 D 22 C 42 B 62 A 82 D 102 D 122 A 142 B 

3 B 23 B 43 A 63 B 83 A 103 D 123 D 143 C 

4 B 24 B 44 D 64 D 84 D 104 B 124 A 144 D 

5 C 25 D 45 D 65 D 85 D 105 C 125 A 145 B 

6 A 26 B 46 C 66 A 86 C 106 D 126 B 146 B 

7 C 27 A 47 A 67 B 87 D 107 C 127 C 147 B 

8 B 28 C 48 D 68 D 88 C 108 D 128 A 148 A 

9 A 29 D 49 A 69 B 89 D 109 D 129 A 149 C 

10 C 30 D 50 B 70 A 90 B 110 C 130 D 150 A 

11 B 31 D 51 C 71 C 91 C 111 C 131 D   

12 C 32 C 52 C 72 D 92 B 112 D 132 C   

13 B 33 C 53 C 73 A 93 B 113 D 133 A   

14 C 34 B 54 B 74 D 94 B 114 C 134 A   

15 D 35 A 55 A 75 B 95 B 115 C 135 D   

16 A 36 D 56 C 76 C 96 C 116 B 136 A   

17 D 37 B 57 C 77 B 97 B 117 D 137 A   

18 C 38 D 58 C 78 C 98 D 118 B 138 D   

19 B 39 A 59 A 79 B 99 C 119 C 139 D   

20 D 40 B 60 C 80 C 100 B 120 A 140 C   

 
ANSWERS (SANSKRIT) 

61. B 67 B 73 C 79 A 85 B 

62. A 68 B 74 A 80 A 86 D 

63. D 69 A 75 C 81 A 87 C 

64. A 70 B 76 B 82 D 88 C 

65. B 71 A 77 A 83 A 89 B 

66. A 72 A 78 B 84 D 90 D 
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